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( Inter Part — 1) (Session 2015-17 éo 2018-20) Sig. of Student  —--eeeeeeeeeo_.
athematics (Objective} Paper (i)
‘ime Allowed:- 30 minutes PAPER CODE 2191 Maximum Marks:- 20

iote:- You have four choices for sach ehijective type question as A, B, C and D. The choice which you think is correct; fill
1at circle in front of that question number. Use marker or pen Io fill the circles. Cutting or filling two or mere circles will
ssult in zero mark in that question. Write PAPER CODE, which is printed on this question Paper, an the buth sides of the
nswer Sheet and fill bubbles accordingly, otherwise the student will be respensible for the situation. Use of Ink Removes or

hite correcting fluid is not allowed. Q.1
1) The multiplicative inverse of 1-2; is
() 122 (B) ~1+2i (© 1-2 ®) 142
5 s 5 3

2) The number of identity elements in a group is .
(A) Finite (B) 2 ©)3 D1

. .
3) Themutnxlo ol

(A) Null matrix (B) Identity matrix (C) Diagonal matrix (D) malrio

K 4 .
4) If l =0. Then value of K is
4 K

(A) £16 B)0 (C) 24 (D) o
5} The product of roots of the equation 3x* + 4x = 0 is

(A) -4 (®B) 4 (©0 %
3 3
6) When P(x)=x"+4x -2x45 is divided by (x-1), remain cn\e

(A) 10 (B) -10 ©)
It (2x+1]-——4‘(x+1}+3(r+2), then 4=

8) The harmonic mean between 3 and 7 iso
5 21
(4) o ®) =+ \ ©)s (D) 21
9) If A,G,H have their usual O =
(A) H @ | (C) AxH (D) %"
10) "5, =
(A) n (Byo (C)1 (D) n!
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1DIf "¢, ="C), thenn=

{A) 24 (B) 8 (C) 20
12) The number of terms in the expension of (1 +x) s

(A3 B)4 (C) Infinite
13) The sum of coefficients in the expension of (14 x)* is

(A) 8 (B) 16 (C) 32
14) cot’ 8 - cosec®d =

(A) 2 (B) -1 1
15) m[:”f- ¥ 9] =

2

(A) cot@d (B) tan#d {C) cot &

16) Domain of y = sinx is

(A) IR B [1.1]

(D) I8
(D) Finite
(D) 64

(D)0

(D) -tan# o

: (€) [:_zr L ] D)y Q
o [
17)In any triangle ABC, with usual notation b° + ¢* - 2be cosa =

(a) a ®)0

s(s —a)

18)

19) tan (tan™'(1)) =
(A) 1 t@ © %
20) Solution of coté = &Mdmﬁ{ is
@ 35Q® ®

©E
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© & & (D) 1
: I‘ 5

b \
(A) sin%/) (B) sin % cos )

(D) cos % .

(D) 0

(D) =

(1)
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Muathematics (Subjective)} (Session 2013-17 to 2018-20) Paper (1)
Time Allowed:  2.30 hours {Inter Part - T} Maximum Marks: 80
b7 1] | [RER———— 1
2 Answer briefly any Eight parts from the followings:- 8§ x2=16
@) Check the closure property wrt *x” on {-1,1}  (ii) Define modulus of a complex number,
‘i) Find multiplicative inverse of —-3-35i (iv) Write down power set of {a,{b,c}}
v) Construct truth table for an implication. (vi) Define Semigroup.
. I 4 =
Fi Fhi b df]s T Flpall B V(W =T B e ommnn SO g2 ﬂ!
L o 3710 E=il" & 1 6 3]

fix) If A is a non-singular matrix, then show that (4 ')"' = 4
(x)  Solve 2x* +12x-110=0
(xi) If  is cube root of unity and «* =1, then evaluate o™ + o™ +1

(xii) Discuss the nature of roots of 25x" -30x+9=0

3. Answer briefly any Eight parts from the followings:- 8 x2=16

i)  Resolve

l into partial fractions.

(D) Define Improper rational fraction and give one example. o
| G

IE -
" i i 2t e xi-x-3 , " ®
fiii Convert an improper fraction ~-———— == into mixed form.
) FRE 2+ 3)-1) ( v
fiv)  Sumthe series 1.11+1.41+1.71+ ... +a,

) Define a geometric sequence and give an example. o 9

i} Insert one real geometric mean belween —2i and 8i \

‘vii)  Find the sum of infinite geometric series 4 + 242 <2+ J2 +1%_
1 1 gz P

T 1 i .
wiii)  IF ey are in harmonic seq <@ ‘

‘ix)  Inhow many ways the necklaces fro ds'of different colours can be made.

X) If 14244+ 42" =2"—] tr& statement for n =2 and n = 3 is either true or false.
xi}  Evaluate (9.9)° using bi rem upto two decimal places.

‘xii) Expand {1+ x)% u 5.
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€)
(i)
(iii)
(iv)
™)
{vii)
(ix)
(x)
{(xii)

(xiii)

(b)

6. (a)
(b)
7. (a)
.(b]

(b)

Note: Attempt any three questions. ) (10 x 3=30)
5. (a) Show that the set { W, w } When @’ =1, is an abefian g;raupz inary multiplication.

—(2)--
Answer briefly any Nine parts from the followings:- 9 x2=18

Define "right angled triangle”.
What is the length of the arc intercepted on a circle of radius 14 cms by the anns of a central angle of 45°7

1
Find the values of sind and cos@ when tan¢ = — 3 and the terminal arm of the angle is in quad ii.

Prove that:cos306° + c05234" +cos1627 +cos18” = 0 without using calculator

Prove that : sin(45” + )= —{ema +cosa) (vi) Prove the identity M tan 2=
sing +sin 2

52
Find the period of cos E (viii) State ‘The Law of Sincs’.

B

[ 8]

Find the area of the triangle ABC when its sides are a= 18,b=24,c=30
Show that sin™'(~x) = ~sin”' x (xi) Find the solutions of the equation cot@ _T @ liesin [0

Solve the equation sec? e:% 0e[0, 27

When the angle between the ground and the sun is 30°, flag pole casts a shado @ong. Find®
the height of the top of the flag. ;
Section —----~-- -— 11

If 3n* +2n + 1 be nth term of the series, find the sum to%
x 1 1 1

Shnwthatll = i —{x+3)(x—l} \
1 11 E

Find values of n and r when " k] |

—

Solve the equation

Ly
Find the coeffigie e expenssion of [x’ E—]

2x

- ——-1——*-Zscczf}
+sind l-sing

Prove the i
ang]es of the triangle ABC, show that
+ t‘yh:ul/ cotO/ cmy cot/
Prove that r=—- with usual notation  (b) Show that tan (sin™ x) = Tf—z
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